Usher: ______________________
Unemployment Rates Review Worksheet
1.) The total number of people living in Country A is 376 million people.  18 million people are not working.  Of that number, only 4 million want to work.  What is the labor force?__________ What is the number of unemployed? ___________ What is the unemployment rate (Round to the nearest whole number)? ________________
2.) The total number of people living in Happy County is 416,000.  13,000 people want to work but cannot find jobs.  7,000 people are not working because they do not want to work.  What is the labor force? ___________ What is the total number of unemployed people? _____________ What is the unemployment rate (Round to the hundredths position)? ___________________
3.) The total number of people living in Smallville City is 22,000.  18,000 people are working.  2,000 people do not want to work.  What is the total number of unemployed people? _____________ What is the labor force? _______________ What is the unemployment rate (Round to the tenths)? ____________________
4.) There are 16 million people living in Region A.  Of that number, 2 million are not working. 500,000 are not working but want to work.  What is the unemployment rate (Round to the hundredths)? ________
5.) There are 10,000 people living in Nowhereville.  8,500 people are working.  500 people do not want to work.  What is the unemployment rate (Round to the nearest whole number)? _______
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